Fig.4-15Ti  30Y/70Z 1700°C/10min BEI Il
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Fig. 4-17 (a) Ti  30Y/70Z i1l BEI ;(b) (e)
Ti Y Zr O X-ray mapping

59



COMPO 150KV  X5000 1pm WD 9 9mm
Content of Element, at%
(b) Layer - 2 " 5
F R T 1 5.84 3392 5.29 54.95
2 5491 ‘ 0.30 =, 16.51 28.28
3 264.60 1 -| .
=

0.50 "5 7.89 27.01

. \

Zr0(Y) ZrOx(Y)

o-Ti

Fig. 4-18 (a)Ti &2 30Y/70Z &3 #hHcF M fs 7 ek 111 2 B s #
B (BEL); (b)WDS % & ~ 15 5 ()2 (D2 47 LW

60



—

X2ypan | Bka

8037 20.0KV A2, 0080 18Vn
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Fig. 4-23 (@) Ti  30Y/70Z Y BFI  (b)
EDS (C)SADP, Z.A.=[001] (d) SADP, Z.A.=[011]
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Fig. 4-24 () Ti  30Y/70Z 1l BFI  (b)
EDS (C)SADP, Z.A.=[211] (d) SADP, Z.A.=[111]
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